HI/NER - P FR-TILEFFRAERER

(BfL: 4 Sv.h)

. = 50cm
No| MR |MEE e & B it MELT T =
1 BENER 0.05 - - _
2 HIREFER 0.06 - - -
3 AENE/NER 0.07 - 0.06 0.06
4| 10748 5 FINVER 0.06 - 0.06 -
5 % [FERFR 0.06 - - -
6 | E 0.06 - 0.05 -
7 = o B NERR 0.06 - - -
8| 10A5H BIRINERR 0.06 - 0.06 0.07
9 10828 YRR 0.06 - - -
10 BUR/INERR 0.07 - 0.07 0.07
11| 10A38 | M |KANER 0.07 - 0.06 0.07
12|108108 | AIFE [AIRERPER 0.05 - - 0.06
13 10828 | 4t KIFINERR 0.07 - - -
14 TN FERR 0.08 - - -
—— < 50cm
No| BIFER [#X%£ % B LT AR = I
1 BEINFER 0.05 - - _
2 RIREEFR 0.06 - - -
3 KENEDFRR 0.06 - 0.05 0.06
4|108188 = LN 0.05 - 0.06 -
5 # |FEPER 0.05 - - -
6 &k 0.07 - 0.07 -
7 = B NERR 0.06 - - -
8|/ 108198 IR INERR 0.07 - 0.07 0.07
9 108168 PR 0.06 - - -
10 BURINERR 0.07 - 0.06 0.07
1108178 | B |KEB/NFER 0.07 - 0.07 0.07
12| 10A248 | A[m [AIRIRFFER 0.05 - - 0.06
13 oA 168 | g KIFINFERR 0.07 - - -
14 TN 0.09 - -

BIES: 7OAWRENUFL—2ar AP —_AAA—H(TCS—172)




